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(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FFEEH — B/NERPEE(BEFREERENRREE)
fotr 2.277 0.004 - 0.059 0.012 &
S TR 1.512 0.036 - 0.346 0.068 =
FJLFE (HCI) 4,545 0.057 - 0.187 0.148 s
mIbE (HF) 0.306 0.011 - 0.069 0.044 s
—E/Ehi (SO2) 15.147 0.075 - 2.989 1.846 =
—&Ei% (CO) 7.578 0.000 - 0.028 0.012 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.971 - 6.265 2.180 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.009 - 0.016 0.012 &
S T 0.756 0.049 - 0.098 0.068 =
/b= (HCI) 0.756 0.140 - 0.155 0.148 s
mIbE (HF) 0.072 0.043 - 0.047 0.044 s
— &b (SO2) 3.789 1.609 - 2.207 1.849 =
—&Ei% (CO) 3.789 0.009 - 0.017 0.012 =
HEEY (NOx)
LIS [EE (NOy) 15.147 1.629 - 3.207 2.182 =
EHE
28 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
K 0.003789 0.001 =
S SE VAR 0.003789 <0.001 =
R A 0.0378 <0.0046 &
IR R g ) 7.575 x 10°° <5.233 x 1020 &
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(kg/hr) (kg/hr) (kg/hr) (/)
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.003 - 0.051 0.005 &
S TR 1.512 0.002 - 0.572 0.097 =
/b= (HCI) 4.545 0.067 - 0.350 0.194 s
mIbE (HF) 0.306 0.014 - 0.093 0.041 s
—E/Ehi (SO2) 15.147 0.045 - 3.824 2.250 =
—&Ei% (CO) 7.578 0.000 - 0.098 0.026 =
FALY) (NOx)
PL=&1E%E (NO2) 30.303 0.284 - 8.432 1.587 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.003 - 0.008 0.005 &
S T 0.756 0.054 - 0.155 0.097 =
/b= (HCI) 0.756 0.135 - 0.275 0.194 s
mIbE (HF) 0.072 0.028 - 0.055 0.041 s
— &b (SO2) 3.789 1.615 - 2.829 2.250 =
—&Ei% (CO) 3.789 0.006 - 0.049 0.027 =
HEY (NOx)
LIS [EE (NOy) 15.147 0.685 - 4.625 1.588 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0004 =
i fe SEHVAR 0.003789 <0.0014 =
E4EEE" 0.0378 <0.0064 &
R R g ) 7.575 x 10°° <7.193 x 1010 &
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(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.001 - 0.215 0.003 &
S TR 1.512 0.015 - 0.272 0.065 =
/b= (HCI) 4.545 0.009 - 0.139 0.086 s
mIbE (HF) 0.306 0.001 - 0.062 0.037 s
—E/Ehi (SO2) 15.147 0.251 - 3.518 1.900 =
—&Ei% (CO) 7.578 0.006 - 0.173 0.037 =
FALY) (NOx)
PLZEEE (NO2) 30.303 0.577 - 10.613 1.651 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.001 - 0.016 0.003 &
S T 0.756 0.034 - 0.098 0.064 =
/b= (HCI) 0.756 0.067 - 0.113 0.086 s
mIbE (HF) 0.072 0.033 - 0.042 0.037 s
— &b (SO2) 3.789 1.610 - 2.125 1.899 =
—&Ei% (CO) 3.789 0.021 - 0.059 0.037 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.715 - 2.672 1.636 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 <0.0003 =
i fe SEHVAR 0.003789 <0.0014 =
E4EEE" 0.0378 <0.0061 &
R R g ) 7.575 x 107 <6.679 x 1020 &
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(kg/hr) (kg/hr) (kg/hr) =D,
(a) [FHEEH — B/NERPEE(BEREEREN AR EE)
(CGA 2.277 0.002 - 0.026 0.006 &
S TR 1.512 0.029 - 0.365 0.076 =
/b= (HCI) 4.545 0.039 - 0.148 0.100 s
mIbE (HF) 0.306 0.007 - 0.055 0.029 s
—E/Ehi (SO2) 15.147 0.217 - 5.856 1.781 =
—&Ei% (CO) 7.578 0.007 - 0.109 0.059 =
FALY) (NOx)
PL—&AEE (NO2) 30.303 0.234 - 3.693 0.776 =
EHE
(b) [FHEEEH — HYE (HFREHRENLGREE)
(EGA 0.756 0.004 - 0.009 0.006 &
S T 0.756 0.050 - 0.130 0.076 =
/b= (HCI) 0.756 0.067 - 0.129 0.100 s
mIbE (HF) 0.072 0.019 - 0.038 0.029 s
— &b (SO2) 3.789 1.438 - 1.954 1.781 =
—&Ei% (CO) 3.789 0.034 - 0.080 0.059 =
HAY) (NOx)
LIS [EE (NOy) 15.147 0.412 - 1.787 0.777 =
EHE
S8 HERRE® RS S R
(kg/hr) (kg/hr) (/)
() [ BFAEN (HET{EBFTER)
7K 0.003789 0.0012 =
i fe SEHVAR 0.003789 <0.0012 =
E4EEE" 0.0378 <0.0056 &
R R g ) 7.575 x 107 <6.353 x 1020 &
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